Name: ______________________
Homework for CL Exercise

Confidence Intervals

Instructions:  Based upon the data sheet that you are taking home with you from class, on your own paper, conduct the computations and answer the questions based on our in-class exercise.  You will need this sheet, your data handout and the CI handout.  Please turn in this sheet, the answers to these questions, your data sheet, and your CI handout, during the first 15 minutes of the next class.  Please staple all sheets together in the upper left corner with a single staple, in the order listed.
1.
For your data set of n = 50, calculate the 80% confidence interval for the 


population proportion based on the z.1 = 1.282.  Recall that the formula is:
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2.
For your data set of n = 50, calculate the 95% confidence interval for the 


population mean based on the z.025 = 1.96.  

3.
a)
Which is wider, the 80% interval or the 95% interval?  

b)
Is this to be expected?  


c)
Explain, why it is or is not expected.

4.
For the 80% and 95% CI based on n=50, on the CI handout, highlight the 

intervals that don’t contain the population proportion (recall that it was 0.38).
5.
a)
Why don’t all the 80% CI contain the true population proportion?  

b)
Should you expected them to? 

c)
Why or why not?
6.
Using your CI handout from class, and the blank number line on the back of this 

worksheet, create a visual of the 80% confidence intervals for n = 50, just like we 

did for n=15 in class.

7.
a)
How do the intervals for n=15 and n=50 compare (it doesn’t matter if you look 


at 80% or 95%)?  

b)
What do you notice about their widths?  

c)
Why do you think the n=50 shows so much less deviation and is such a 


smaller interval than the n= 15 ?
8.
a)
Based on our study of the Central Limit Theorem what can you say about 



the sample of size 15?

b)
Point out differences between the n=15 and n=50 that show the CLT at 



work.

DUE:  1st 15 min Next Class








